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30200000 (tutlu[upqlurlfb odrutr4urll hlnrpbp h urupgrurlnpnulbbp FCU +Furd 848000 848000 1

09132100 Fbtrqitt c< fun 350 2982000 8520
09000000 Ub4drlu0 ptrrul4ruh qurq pcu lurl 200 528000 2640

0900000 Ubrlftlrud pbrullub quq tru lurl t80 426600 2370

34000000 Ut[p n u1 w h b u t1 w tI w u h p' / 2 5 01 5 0 0 /
34300000 DtupdlrlJr FunAhq c< hurrn 25000 t00000 4

34300000 uheut+Fnh qilul'qh lurl,rrupht 0< hurur 10000 10000 I
34300000 tDn[ rurn rurlhur{np 2upd]rfi c< hrurn 30000 30000 1

34300000 Urn rurlburrlnp {nlauLf rl G< hruut t2000 12000 I
34331300 $nptupll[r1 c< huu 60000 60000 1

3433r300 lruldun c< huu 2500 t0000 4
34331300 kn6qull c< hutlupudnr 65000 65000 I

34331300 tlru4lrunnp gpfr c< hrurn 65000 65000 1

34331300 an! c< huur 5000 5000 1

3433t300 lIbld[1 c< hutlupu0nr 110000 110000

34331300 Orth $hrun c< hruur 5000 5000
34331300 Iurltu rlbqdft1fr hur r[ruprudnr c< hurlupudnr 50000 50000 I
34331300 Uurlpru11tul c< hurm 8000 32000 4

34331300 UnuLgprul,;rul c< hrurn 42000 42000 I
34331300 tugnrQ hup{ru0f1[r c< hurrn 8000 8000 'l

343211121 3nq| $[1mp c< hurn 5000 5000 I
34331300 Fndp G< huu 8000 32000 4

34331300 tinqFhq c< hur[upu0nr r4000 14000 1

34331300 Quhqtull c< hrun 8000 16000 2

34321121 Gurpdfr$ jnqh $ft1mp c< hturn 3500 21000 6

34331300 9nJuuhgfut unuf [ 1nq[ $[1mp c< hurrn 30000 30000 I

34331300 o+h $hrun c< hurn 5000 60000 12

34331300 o4npu|1flfr $[1up c< hutn 4000 48000 12

34321r30 UngL[ \n64ul1 h hbml$ l1n6r1u! c< hur{upudnr 70000 70000 1

34321130 UbJuubf Iu11u! upqblu\duh rnpnu c< huur 55400 55400 I

34331300 Umupftf quunp[/llulnrtrurpup/ !uhqhull rlbdfr c< hum 19000 38000 2

34331300 Umupltf qruunpft/llulnrtru.rpup/ ulluLng 4bdfr c< hurrn 8500 34000 4

34331300 Uu tuplt f qu u npft/llulnrbupup/ lluhqhull hbmh[r c< hurm 16500 33000 2

34331300 Uuup[tf quunp[/l1u;nft uprup/ ru[uhng hbuhfr c< hurn 77000 77000 1

34331300 Fbbqruulnrlq' pbtrqurqnrlqlr $htrn nnrl c< hur{upuent 395000 395000 I

34351200 llrlnrnrrlfrh uhrluryl /255-55.19 / G< hruur 71000 284000 4

34331300 tlt{uQnft fir unurtgpullru 1 c< hruu 50000 100000 2

34300000 cupd[1[ {n! c< hurn 20600 20600 1

34300000 Cupdf gf urn ru ilhrutllru 11 df 9ub9f 11 c< hurur t8100 18100 I

34321130 Ublu rutr lrll ru 11 urh u pqblu ! druh Q n61ut 11 h bm Lf G< hu{upudnr 89200 89200 1

34300000 lqhr c< huu 55500 55500 1

09211900 Cwpdlr2fi puy 5W40 pcu, I 4800 273600 57

09211400 thn lu wttg thutt qr n ufi fi ptq FCU l 6500 58500 9

09211610 tunqwbwllttbplt hh4nil1 FCU( t 1400 21000 15

09211900 Cwndhth nq l0w4o pcu, t 4000 32000 8

09211610 ut',nhfinhc FCU, 1600 16000 t0

09211650 UpqbpQtlwtt hbqnq peu, t 600 600 I

39830000 lrblgrultu;lrh, uhtnEuul4tutr uqputrBhbp Feu rlnurd 950000 950000 1

15000000 (tubpuryf b utrtr4[ t4npbp FCU, [FurrI 350000 350000 1

48000000 (rurlnrllupqlulfttr dprugpbp pcu,
4nuu 198000 198000 1

39714240 U;1 dbpbtuutbp h uuppu{npnrdhbp peu
4nud 802000 802000 1



39714200

09134200

UUU 2 UCtuUSULPI,bF

uuu 3 uunu3nFoSnFuubn

FurdubnnDuqnntpjnth

U bpbtr ruL bp lr h u r.u ppu rlnp n ul! bp Jr ptr pug hq tr nF nqnrJ tr

Cb 4h rut n r.p ph n U ph ur1 1 dru nu1 n rp1 n rhL bp,z9tr U9/
uuul uqnuLeubP

Ubpbbutrbplr Lr. uruppru rlnpnrrlbbpJr pbpugJrQ bnpnqnul h

uuu 1 uqnur/PLbn

ttuu 3 uutlu3nFftBnhrrrrbn
hurrftu!u.rpqprllrtr drunulnrplnrtrhbp/rLbllnnp

lurnluruuin upuhuqnpmrul]rh {nJuu4pnrrltrbp'

Urup4ruu rup rlbpbbu4nrl' 6 rn b4ruhng

[f urp4urnup rfbpbhrulnrl' 4 mblruhng

Uurp4rurn rup rf bpbhrulnrl' 6 tnb4urhng

lftup4ulnup rlbpbhrulnrl' 4 rnb4urbng



48000000 [Itu ubuq[rrn rulluh durnrulnrpynrhtrbp FCU< l1nurf 50000 50000 1

Ct 4h ruh n rp p! nU ph h rubp ur1 frtr dtu nrul n rp1 n rtrt bp

uuul uqnuLeubn
38651200 tl.tupltu\urh uu.rpprut[npnrrlhbp/qpnlb11unnp,/ uuq nFrud 300000 300000 1

uuu 3 uunu3nFrdsnFuLbP

70000000
Utr2rupd qn rlpfr h ur ug bfr qp urh gdurh tr ur b4bl1u rn rln rplurb
mpurlur4prlurtr rluruburq]rrnrullruh drunur.;nrplnrtrbbp pcuK rlnuU 850000 850000 I

70000000
(n4ulluubpJr, phrul1b[r L n1 pburl1bft rnurpruOplbp]r
pr r[ uqp rftutr rlu uh ru q]r ur u 11 ruh dru nrugr tp1 nrtrbbp FCU( qpurl 750000 i50000 I

70000000 9nrlpJr qtnuhurrnrlruh rJurubuqlrrnrulluL 0unurlnrplnrbblip FCU( +Frud 400000 4,00000 1

79130000 [f nr uh ruqJr ur ur [ub du nurlnrpl n rtr! bp /lt nwwp / FCU< lnud r00000 100000 I

Ch4h uhn rp pbn Uph r,nhm bu ru 11 urh h ru nhur p ruy Jrh h rup upbp nrpln rbhhp

UUU 3 bUn[snhft}€tntr'LLbp

71351190
bquLutqlt rn bunrp1urh rftuutruqlrrn ul1rutr
Orunulnrplnrtrhbp FCU( nFruf r00000 100000 1

6uLur qruphru.;frb rnprutruq nprn

uuu 2 uqnuueLbn

3492fl60 Lnuu lllrpbhp/3802000/
34921160-1 Lnrurugnrlg 3 hrurnrludrurlurunr[ 4lc hruu 230000 9:20000 4
349211 60-2 

| 
Lnru ru g n,19 3 h ur rn r{udru rlu unrl, hbrn hu;2rlru p la ru1 Jrtr

4lc hruur 305000 1220000 4
34921r60-3 (bu f nnhrullrh lnrurugnrlg ,Tlc hurn r85000 1fl0000 6
34921160-4 rlb[ru rlruprlruh qiluu{nn rn bprl[rLu1 p1nl1 4lc huru 135000 135000
34921160-5 rlbllu{ruprftuh urbprf[rtrur 1 p1nQtubp qe huu r04000 3t2000 3
34921160-6 hbdbhbpru!ub rlurhrutrrull .lc hum 105000 105000

rruu 2 uctuusuLPLbn

45000000 CbbpbpJr h 2ftrnrplnrtrhbp[ !runnr.gnul/Juurlrlbpnrtl/ truq rlFrud 1000000 1000000 I

45000000 Gbbpbpf h 2Jrhnrplnrhlbpfr lunnrgnrrl uuq
'tnud

382080 3$2080 I
Ququrtr hrurlurlhpfr trbphrurlrulbprulfrtr 6urrhuqruphbbpfr

{ n u u1 [b lrn p nqdu.rh, llfr g rlurl pbp[r p u p hr[ ru pqrlurtr

u2Juurrn ruhphbn, ru1+ p{nul'/9721 360/

45231177-1 ftlnulurhyub rfrn4ng q< [Frud 5800030 5800030 I

45231177-2 U, Llurlnrlgurh rfrn4ng q< rlpurd 903750 903750 1

45231177-3 G ur h nr.rllutr rfr n 4ng L tlbrlfrp6llh hp ru rq rur pur l1 $< 4Fud 138240 138240 1

45231177-4 U. U rn brfrrut4urtr rfr nrlng (+<
4Frrd 2879340 28"79340 I

71351540 SbJutrfr!ullutr hullnqnrplnrh ttuq DFurd r94200 t94200 1

98flr140 <b4|bu l1urlfrtr hullnqnrplnrh uuq rlpruU 58500 5rt500 1

45231177
'{u|lqruu hururuJlrpF UbnhurUurJtrpurlfrt 6uhuquphtbpfr
f n uurl [h hn pnqrlrutr, l1]r g drulpbpf prup b\ru pqrftuh
tu2Juuurutrphhp/w11/

uuq +pud 316940 316940 1

45000000
Cbtrpbpf h 2Jrtrnrplnrtrhbpfr lruqfrrn ru1

tlbp utr n p nqn rrll1nq"/ (+< rlFurU 3437540 34ir7540 I

71321100 UtuJuuqduhbrn ruqnrnruQruh druJuubp truq l}nud 290000 290000 I

71321100 luuJuuq0urhbmruqnrnullrub durfu ubp /1nq./ uuq rlpr!d 150000 15r0000 I

71351540 Sbfu hf QuQutr hul1nr1nrp1nrtr ttuq lpurd 68760 68760 1

98ilr140 <bfirtnu [ru;[tr hullnqnrplnrh uuq l1Furf 20620 20620 1



45oo0oo0 
| ff,)t*n 

h 2f Lntplnftbbplt t|uqf u u1 rlbpurtrnpnqnilTlnq
uuq rlnud 52000 52000 1

71 3211 00 
I 
turluurqOu hbrn ruqnrn rulluh drufuubp /r]r nurullrb/ uuq rlpruf 350000 360000 I

fu nrlnrlrullru2urpurllrh mpruhuqnprn

UUU 2 UGfuUSULPLbN

50750000 .Lbpbput1trbp}r rlbpurtrnpngnul

50750000-1 +urrlfp-FbQ 22 {tt! t1FurI 187920 |87920 I
50750000-2 tu{fp-Fbt142 4lt! rypud r01330 r 01330 I
s0750000-3 +u{fp-FbQ 52 rlnrrnp 2 4lc rlprurl 216730 t!.16730 I
50750000-4 U. (rupnrp.;nrblutr 102 rlnrrnp 1 4tC: 4nud 2A78iO 287810 1

50750000-5 lf. (upnrplnrtqruh 142 rlnu,np 1 4tc 4prurI 309480 309480 1

50750000-6 bpllupnrqru;frtrhbpfr 72 rlnrmB 1 'lI +Fud 258590 258590 1

50750000-7 bp[upnrryl;]rtrtrbpJr 92 rlnunp 2 ,TlC qFrud 292330 292330 I
50750000-8 l?lnufurtr;utr 12 4lc +nud 250740 250740
50750000-9 U. Uurtrnr.lguh 42 dnrurp 1 4lc +nud 26701O 267010 1

50750000-10 U. Uruhnrlgrutr 52 rlnlnp 2 4lc 4nurd 318090 318090 1

50750000-11 Cnpp 42 rfnr.np I 4lc 4nud 256330 256330 I
50750000-r2 (ufrdnp 92 4lc +Fud 263030 263030 1

50750000-13 (ruftbnp 182 .Tlc 4,nuf 294260 2,,94260 1

50750000-14 (rufinp 192 'Ilc q,nurd 290690 2tt0690 1

50750000-15 Fulupbp4 3ru2 fnrrnB 2 'lc +nurd 308770 3t08770 1

50750000-16 Puqu.rpbp4 62 rfnu,np 3 ,Tle +Frud 365010 365010 1

50750000-17 Fru4urpbp482rJnrrnp3 4tc 4nuf 202880 202880 I
50750000-18 Puqupbprl 92 rlnrrnp 1 .qc rlprud 310430 3t0430 I
50750000-19 Puqupbp4 122 rfnunp 1 4tc l1Furd 291740 21 1740 1

50750000-20 Fuqrupbp4 122 rlnrrnp 3 .tlC +Fruf 290640 290640 1

50750000-21 Furlurpbp4 122 rlnrurp 4 4lc 4nuu 301430 3 11430 I
50750000-22 Furlrupbp4 222 ,Tlc rlpurd 278930 278930 1

71321100 Lu[uruqdurhbururqnrnrulluh OruJuubp pcu( l1Furd 300000 300000 1

uuu 3 uunu3nFG3nFLtbn
50750000 Uuruhuq]rmtuQrutr 0unulnrplnrtrtrbp FCU4 +Fuf 100000 10r0000 I

G pgru 11 ru dftgru rlulpfr u rpn n rn rlrub 4bf q urpru p

IIUU 2 UGfuUSULSUbN

71220000

45000000

{ruurn ruprgpbp[r !ruqrlnrrl

nq9[ qbnf hnrhfr rlurgpnrrl/ur11,/

4tc
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ta*
PCU<:
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3745A4

l"tt
518600

283980

r8729063

T.4ss4

112373

518600

283980

1

1

I

I

UUU 2 UCtuUSUl,PLbn

45000000
u. u urunrqJullt +nlngF UrqpbFF prupbQtupgnrd,
llubuluqrurn urupudptrbpJr purpbllrupqnrrl /qc 4nud 8063110 8063110 I

71351540
u. U trtunrlUurlr tlnnngF Urulpbpfr prupbllupqnril,
llutrrulurqturn rnurpudptrbpfr prupbllupqnul S( FCU< 4nud 161260 16t260 I

98111140
tI. Uuhnrlgub tnnngh rfrulpbp]r prupbllur pqnrrl,

11 urbrulu q ur rn rn ru p ru 6ph bpf p ur p b[ ru pqn uI (( FCU< l1Furd 48:180 48380 1

45000000
u. u tuunrqJuru qrntngF uurJpEFF FutFEquiFqntu,
Iurtrulurquur ururprudpbbp[r prupb!upqnul/u11l pcu< nFurd 122:250 1212250 I



45261124

U. Lftub n rlg ruh t n nn g h qbrn ru rfrhyr rlul pJr r|1r rutr n p nqrft uh
tru[uuq0uhruluruhru2rlurlJrtr rfr ruurn rupqpbp

Cb4hutrnrp pbnUph trunurlnrplnr.hhbp/Gurfrrunn4

2tuqu11bplr nlhprgnrrl/

Lluhnrlgrub {nnngh {nrlngurlJrh lnruurlnpnrplrutr
hurrlurp uqputrghbp/3lll 600/

Sbdbhu /M 400 Unrlmf $pnr,q/

uuu 3 uunu3nFrdSnFLLbn

(urbqurn]r L urq nprn Jr durnrulnrplnrhbbp

lI. U frh ru uluh rfr n r1n gn uI Ju u r1u h p u q u p ru l,; [1 u nnrgblnr

hurrftup ruprnu4pru[ut qu2urptrbp/h1nrybp h
q ruptuquhbp/, ru;4 p{nuf'

trrnpnq ul|rurlunull 230*1,9 dbnuqft

9rnpnq u[ur[unuQ 230*1,9 prupf

Fuqrulnb bphurqruur rlrutr uuftQ 300x30tltl



44171100 Fuqulmb bpbuqumduh urufr! 300x50rftI G< orJ 12060 98892 8.2

44140000 Fuqulmb bqrupnrp 120x300 c< d 5060 1t13200 220

44111200 Sbrlbtm /M 4O0 UnrluJr 9pnrq/ 50qq u{upqbplt rlbg G< u 60060 492492 8.2

44112530 Fbunbb unrfrl1bbp rftutph, 6hu{np, 4urli hururnnrplutlp c< pd 4560 989520 217

44119000 Snr[umu! 0,05x0,04x2rI (hu6upbb]r) c< lurJ r70060 r70060 I
44119000 Sut[uuru! 0,1 r0,03x4rl (hru6tupbtrf) c< lutl t71000 16416 0.096
44118000 'tlpn$.glrtr!. phphr1 0,55ff /qnrhurrlnp/' c< prl 4560 91200 20

44118000 Ahpbn gftrQuqurn, hrupp, qnrburr{nF, 0,50rJrJ c< prI 3200 5760 1.8

44191700 al rn n rrn ur 11 5,5"25 ur u.rblrpul JrL u2lu ur u uhpt bp]r hu rftup c< ntum 75 9000 120

44191700 alunrmull 6*80df /[uhnrlp]r/ hupp qlJuflln{ G< rnum 110 i35200 320

44191700 Uutbb! /gru1l1u/ 6rftI c< nluur 80 25600 320

44191700 tr u [u n {f ur nu u n ur I u1 1ru u rn rftu u b /u rq lr m ru [/ c< prI r660 :23240 14

44191700 !ufu nft runuruurru4fr qpn$[1 /uq]rmurll/ c< tI 230 3450 15

44130000 'tl n f {ftt lt p1n pf 4b Jun 4n rlru l{ 1 0O drt (! nr1 n r4nr h ur rlur p) c< rI 1060 28620 27

44130000 'tlnfi$bfplnp[4b llgurluubp 100 dd (l1n1nrlnr htudrup) c< nrutn 1060 5300 5

44130000 Anf {f b| p1npf 4b urblgnrbru|.1 1 00 rftI (|4n1nrqnr hrurlrup) c< lhrum 1060 3180 3

44130000 'lnf {ft![p1np[4b bnupu[u2[r1 1 00 rftI (l.1n1nr4nr hrurftu p) G< huu 1060 1060 1

44130000 'tlnft u{pnqhlbburlfrb Jun4nrluQ 25 rftI G<
'I

460 89700 195

44130000 alnftqpnqfi1btu4fh ubgnrd (urlbpJrlub[u) d= 25 fd c< hum 1560 9360 6

44130000 Anfqpnqflbhulfrh utrfunrhull 90 uruurJr6rub d= 25 rftJ c< hutn 260 3t20 t2

44130000 'tl n ft ul pn ul lt lbtr ru1 lrtr bnru pru2 Ju fr1 d= 25 drl c< hurur 310 2480 8
44130000 Anfqpnqflbtrrullrh rfrnr[urh d= 25 rfiJ G< hrurn 2860 17160 6

44140000 allttdb htuqnp4ulup 2x4rftI G< rI 410 71750 175

44140000 OqLdb huqnp4ulup 2x2,5rftI c< d 260 n3000 50

44140000 Unuuuur$ t1. Unpurn E 27 c< hurn 2000 4000 2

44140000 Lnruurrlrf nrf /[]r2lrlt/ 200dd qt4udlr c< hruur 6700 {t0400 l2

44140000 Ludq hllntnf 35 w, E 27 c< hun 2800 39200 14

44140000 Ubpd ufqudupqh gpuur4trdurgllnrh G< Iq 5000 15000 3

UUU 3 UUnU3nl.ftBnFLLbn

79951110 Ch4hurbnrp Ftrnqph ru11 durluuhp/rnputuq. {n Ju./ ttuq 4nurd 253000 253000 1

55000000 !bplltulugnrglnllutr drufuubp ttuq qlpUf 800000 800000 I

U2ullnpulf L rlf gngunnrrlhbp

uuul uqnuLeLbn

30000000 $pruubtrlur11ru1 Jtb b1ntpbp PCU< +FruU 800000 800000 1

30000000 9ptu ubhlul1ru1 Jth b;nrpbp truq 4Fud 1000000 1000000 1

18530000 (urn nrll Lqurtn u \ur1]rtr ur11 trlnpbp
pcu</
ttuq rlFrurl 26276300 26276300 1

r8000000 (uqnruu ttuq [Fud 1000000 10r00000 1

39830000 lbhgur4urlfh h hubpnrl]r! uhhqf trlnrpbp ttuq [FrurI 4400000 44100000 1

UUU 2 UCluUSUl,PLbn

45000000 Cbhp-2]rbnrplnrtr!hpf ll.unnrgnrf uuc 4nuf 800000 800000 I

rruu 3 uunu3nNi}{lnFuLbn

55000000 UbpIra1u gnrglur llurb du]uubp
FCU</
uuc Qnud 11200000 11i!00000 1

79951110 Ch4hurtrnrp ptnUph ur11 duJuubp
FCU</

uuq +nurf 14347500 14:t47500 I

64000000 Sb4blluur{ur\urh drunrulnrplnrhhbp uuq +nud 960000 960000 1

UUU 2 UCtuUSUtrPLbn

45611100 l,np l, ll t ( h|rltru&npnqrluh ru2Juru rn ufuptbp 'Ilc q.Furd t7543860 17tt43860 I

71351540
L, np L fl M h Jr rltnuh n pnqrluL m bJub lrll ur ! ut hull nlnrp1 n rh FCU< 4nud 350880 3rt0880 I



981r1140
t n p L 0 tt( h[ultt ubnpnqdutt h b4fttttulltul Jttt

hullnrlnrplnttr
PCU< tFtutI 105260 t05260 I

45611100 llh{ 9 U n F< {bptlb npnqrlutr ru2 Juur rn urbptthp q< +Fuu a645240 81645240 1

71351540
Oh{ 9 frnh( t[bpururhnpnqdruh urb[uh[\ulltutt
hu11n4nrylnttt

uuq +Fuil 172900 172900 1

98111140
llh { 9 L n F< rlbp rutr n pnqrlub h b4ltt u llttt1 lttt

hullnqnplnttr
uuq l1Fruf 51870 51870 I

45611100 Oh{ 9 LnM r[bprutnpnqrluh ru;1 0uJuubp uuq nFud 131090 131090 1

71220000
fdh{ 9 UnF< {bpuhnpnqrluh hruJuruqdurhruJuuhru2{utlftr

r[ururntupqpbp
uuq rlpuid 400000 4t00000 1

45611100 Unp U 0 lt( r[bpruhnpnqnrrf-3 q(: qFud 20170000 20170000 I

71351540
Lnp Lfl F( r{bpururhnpnqdu! mbJuhltllutlltutr

hu\nr1nry1nttt
uuq l}Fuf 403200 403200 1

98111140 Unp L 0 M r[bpurhnpnqdruh hb4Jrbru[rulfrt hu[n1nry1nth
uuq qFurd t20600 120600 1

45611100 llnp Uflt ( rlbputrnpnqrlurtr u11duluuhp uuq 4Fuu 306200 306200 1

uuu 1 uqnuLPLbn
ftlhrll bnudztnurqulu +u{nngF huruurF qnuPn oEnPFEFnru'

rutn B{nrrI'/2000000/

39130000 'tlurhurpub hrulhfn{ q( hurn 70000 70000 I

39130000 T lurhurpurtr Uuluhtn{ c( huln 65000 65000 1

39121520 Qpruqurhupurb qpuubtrlu[tu1]ttt 3 {ba[n{ qr. htrrn 120000 t20000 I

39121520 9pu u1ruhurpurh qpurubt4ul1ru1ftb 2 {tb4l1n{ c( hurn 65000 130000 2

39121300 9pruubqurtt
q( huu 60000 60000 1

39121300 9puubquhf \gnp4
q( hruu 50000 50000 1

39121410 rlpruubqruh hrurlulluPqlf q4 hrum 40000 40000 1

39130000 truJuht (+< hrun 10000 230000 23

39130000 Udpfntr q< hurn 35000 35000 1

39138310 Fruq\upnn
(+< huu 100000 100000 1

39138130 [pnn $u1u1tu
q< huu x4000 840000 60

39138130 llpnn rlbmuqru[1utt
q4 hruu 13000 260000 20

FCU 4Fuf 900000 1

uuu 1 uqnuLeLbn

39296200 (rurnnr[ bqruurru[u;[rL trlnrybp/qurqurlbbp/ pcu< +nuIU 1000000 1000000 1

Ctr4udbttp 249484470

4utptlltpwqnt
un*ghnp

Q tu t4 ufu lt h u I uryb P w tt1 b q w P utt
Ptt u ulwh t4 ub wQ wtt [up tp uh p w 4b'n1' htt ut puln pn tPlnfii' 2ltfu wt4 nrybpfi

ffirlu^tr,",t-'rrnr.rludr,",t,**r.trt qt urt unuplurtrbpir hudup trufuurnbu{u6 qnttlutpttbpp
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